Local Form 2016 (9/99)

Michael J. Paukert Shaun M. Cross Paine, Hamblen, Coffin, Brooke & Miller LLP 717 W. Sprague Avenue #1200 Spokane, WA 99201

Tele: (509)455-6000 Attorneys for Debtor

UNITED STATES BANKRUPTCY COURT EASTERN DISTRICT OF WASHINGTON

In re...

THE CATHOLIC BISHOP OF SPOKANE, a/k/a THE CATHOLIC DIOCESE OF SPOKANE, a Washington corporation sole,

Debtor.

Case No. **04-08822-PCW11**Chapter **11**

SECOND INTERIM APPLICATION FOR COMPENSATION FOR SERVICES RENDERED AND REIMBURSEMENT OF EXPENSES PURSUANT TO 11 USC 330 (Paine, Hamblen, Coffin, Brooke & Miller LLP, Attorneys for Debtor)

Name of Applicant:

Position of Applicant:

Application Number:

Paine, Hamblen, Coffin, Brooke & Miller LLP

Attorneys for Catholic Bishop of Spokane

Second ✓ Interim ☐ Final

The undersigned applicant applies to the court for an award or allowance of compensation for services rendered and for reimbursement of expenses incurred in the above entitled case pursuant to 11 USC 330 (or USC 331 if an interim application). This application is supported by the following information and attached documents:

I. (*If applicant is employee of trustee, debtor in possession, or creditors committee*) Date of Entry of Order Approving Employment:

December 23, 2004

II. Dates covered by this Application:

April 1, 2005 to **September 30, 2005**

III. The name, position, hourly rate, total time spent, and amount requested for all compensation for services rendered by each person covered by this application, in connection with this case, is as follows (*If this is the* **FIRST** *Application, include ALL time and amounts, both pre- and post-petition in this Application):*

<u>Name</u>	Position	Hourly Rate	Total Time	Amount Requested
Michael J. Paukert	Partner	\$200/hr	382.50	75,230.00
Shaun M. Cross	Partner	\$200/hr	727.30	143,440.00
Gregory J. Arpin	Partner	\$200/hr	729.70	144,070.00
Donald G. Stone	Partner	\$200/hr	83.30	16,210.00
Daniel W. Short	Partner	\$200/hr	285.10	55,920.00
Gerald Kobluk	Partner	\$200/hr	613.00	121,160.00
Gair B. Petrie	nir B. Petrie Partner		\$250/hr .50	
G. Nicholas Bergh	Partner	\$240/hr 5.00		1,200.00
Christopher J. Hogstad	ner J. Hogstad Partner		8.90	2,136.00
Daniel Gibbons	Associate	\$140/hr	395.60	54,432.00
Stephanie Haug	phanie Haug Associate		51.30	8,151.00
Devra Hermosilla Associate		\$140/hr	69.40	9,506.00
Erin Jacobson Associate		\$160/hr	2.00	320.00
Andrew Mitchell Associate		\$150/hr	24.00	3,600.00
JoAnn Grennell Paralegal		\$85/hr	135.30	10,997.00
Bruce Bennett	Bruce Bennett Paralegal		424.10 35,950	
Matthew Crotty Legal Intern		\$80/hr	22.20	1,776.00
Zachary Blume Legal Inter		\$80/hr 8.00		640.00
TOTALS			\$684,863.75	

IV. Total amount of REIMBURSEMENT of expenses requested by this application in connection with this case (*If this is the FIRST Application, include ALL costs (including filing fees), both pre- and post-petition):*

<u>\$ 13,809.73</u>

V. Total of Compensation and Reimbursement requested:

\$ 698,673.48

- VI. (*If applicant is a trustee*) The maximum amount of compensation allowable under 11 USC 326(a) is: \$\sum_{N/A}\$_.
- VII. (If applicant is an employee of trustee, debtor in possession, or creditors committee) All compensation for services rendered and reimbursement of expenses incurred for which

		not incl		ary to the administration of this case, beneficial to the estate, ecessary duplication of services. (If answer is NO, attach an		
	•	Yes	□ No	☑ N/A		
VIII.	reimburse of the deb	ement of otor(s) w	expenses inc	for the debtor) All Compensation for services rendered and curred for which award is sought for representing the interests ry and beneficial to the debtor(s) in connection with the case. <i>eplanation</i> .)		
	\square	Yes	□ No	□ N/A		
IX.	Compensation or reimbursement previously received has been shared with another entity or an agreement or understanding exists between the applicant and any other entity for the sharing of compensation received or to be received for services rendered in or in connection with this case, except as a member or regular associate of a firm of lawyers. (If answer is YES, attach an explanation.)					
		Yes	☑ No			
X.	Attached document		pplication and	nd made a part of this application are the following supporting		
	a. 🗹			oney or Property Received or Promised Other than by red in all cases, LF 2016A);		
	b. 🗹	Summ	ary Suppor	rting Application for Compensation for Services or Expenses (required in all cases, LF 2016B):		

Itemization of Services Rendered (required except in Chapter 13 case if

cumulative compensation is \$1,000 or less; itemization must be by project

Itemization of Expenses (required except in Chapter 13 case if cumulative

Narrative Summary (required if cumulative compensation exceeds \$10,000, LF

category if cumulative compensation exceeds \$10,000);

compensation is \$1,000 or less);

2016C).

 $\overline{\mathbf{V}}$

 $\overline{\mathbf{V}}$

 $\overline{\mathbf{V}}$

c.

d.

e.

The undersigned applicant states under penalty of perjury that the representations contained in this application and attachments are true and correct to the best of applicant's knowledge and belief.

DATED this 20th day of October, 2005.

PAINE, HAMBLEN, COFFIN, BROOKE & MILLER LLP

/s/ Michael J. Paukert_

Michael J. Paukert, WSBA No. 20237 Shaun M. Cross, WSBA No. 9469 Attorneys for Debtor 717 W. Sprague Avenue #1200 Spokane, WA 99201

Telephone: (509) 455-6000 Facsimile: (509) 838-0007

I:\Spodocs\33029\00007\plead\00339907.DOC